A GLRGigel (-3, —2) uR WAlclidR saAPRH
ai 2Mnel : (1, 1)
(xx, ¥ = (1, 1) dam (h, k) = (-3, -2)
dal "M (x', y) el dl
x'" yY=&-hy-k
= (1 -3),1-(2)
= (4, 3)
A GRRiGigel (-3, —2) uR Alclid sapRi
a4 20en : (0, 1)
(x, ¥) = (0, 1) dau (h, k) = (-3, -2)
ddl WM (x', y) el dl
x', yY=x-hy-k
=0-63),1-(2)
= (3, 3
N Glam[c‘»igc\g (-3, —2) uR RWiclid? sAHi
a4 20N : (5, 0)
(x, y) = (5, 0) aL (h, k) = (-3, -2)
Aal 4H (x', y') €U dl
x,y)Y=&-hy-kK
=(5-0(3,0-(2)
= (8, 2)
A GRRiGigel (-3, —2) uR Alclid saRH
a4 2en : (-1, -2)
(x, y) = (-1, -2) qal (h, k) = (-3, -2)
Adl 4H (x', y') €l dl,
x, y)Y=x-h y-k
=(-1-(3), -2 - (-2)
=(2, 0
A BRRGIgs (-3, —2) U WAlclid saAPRH
a1 M€l : (3, - 5)
(x, ) = (3, =5) au (h, k) = (-3, -2)
ddl 4H = (x, y') Sl dl
xS y)=&-hy-k
=38-(3),-5-(2)
= (6, -3)
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BLPICIES] 2emctiaR (1, 1) [CIEA sdi 2wils2ei] 2a3u 2f 2 2 A 20ed : ¥ +xy-3)2 -y +2=0



10.

11.

12.

13.

adl e-ldz (B, ) = (1, 1)

GlamfBgd 2auriaz sl R F By Pl am (x, ) el sselSd A4l am (x' y) wy 9.
x=x+h=xX+12ly=y +k=y+1

A5 X2 + xy - 312 —y + 2 = 0 Hi >l el Hsdi,

XA DP DY D=3+ D2+ D +2=0

X2 2 vl Xy x4y 41 - 3yEo6y -3-y-14+2=0

LX?-3y?2 4 Xy +3x' -6y =0

M, Adl W uglami wld adlsmad gy

-3y +xy +3x -6y =06.

BLPICIES] 2emctiaR (1, 1) g sdi 20ils2eic] 2a3u 2f aA 2 A 2Aed : xy - )2 -x+y=0
sl 2eu-ldz (B, ) = (1, 1)

Glamfeigd @iidz sl Bg Pl wd () el elsdid dal 0H (x' y) A 9.
x=x+h=x+1uwdy=y +k=y +1

A5 xy — 12 — x + ¥y = 0 Ml 20 Hedl Hdi,
{x'+1)+(y'+l)—(y'+1)2—(x'+1)+(y'+1):0

XY X Y 41—y 2y 1 -x'—14+y +1=0

XY -y2=0

24, Adl yglanl »uua wdlseg a3u xy - y2 = 0 9.

BLPRilGiga 2emeticaz (1, 1) [GigA sdi wilselc] 2a3u 24 aA 2 A Ml : xy-x-y+1=0
sl 2eu-ldz (B, k) = (1, 1)

BBy, @iridr s2al [Bg Pl Wy (x, y) dl olseausda Aal 0y (x' y) wa 8.
X=X +h=x+1ladly=y +k=y+1

A5 xp - x — p + 1 = 0 Hi 2L Y&l Hsdi,

L+ D+ -+ D+ 1)+1=0

XY +x+yY+1-xX-1-y-1+1=0

Xy =0

2§14, Adl AH ugladi 2uta wdlsed a3u xy = 0 9.

BLRGigs] 2actiar (1, -2) BigA s2di ollAoti wils2el0d 2a3u 2f 2 7 A 20l

) 222 +)y>-4x+4y=0 (i) - 4x + 4y + 8=0

() 2x2 + 2 =6 (ii) )2 = 4x

BLRGigs] R@ulclidr sAl GIgA s2ai [Big (4, 5) cii am cieaida (-3, 9) axw ?

(7, -4)

BLPICIES] 2elctick sAL [GIEN s2di wilser 32 + 4y + 8x — 2 = 0 oli ol 2a3udi JRAN UE dall y
aRiddl ue o &R ?

(32

4

Aldia 5A 5 GLPIGIES 2euclidR 52di Bisleieli Qs S1g 32 usdl ol
A aein

BPRifbiga 22cticar (-2, 3) BigA s2ai wils2e1 y + 3x = 2 o cid 2a3u Andl.

y+3x=5



